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ijh{kkfFkZ;ksa ds fy, lkekU; funZs'k %& 

GENERAL INSTRUCTION TO THE EXAMINEES: 

1- ijh{kkFkhZ loZizFke vius iz'u i= ij ukekad vfuok;Zr% fy[ksaA 

 

   Candidate must write first his/her Roll No. on the question paper 

compulsorily. 

2- lHkh iz'u djus vfuok;Z gSA 

 

   All the questions are compulasory. 

3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksaA 

 

   Write the answer to each question in the given answer book only. 

4- ftu iz'uksa esa vkUrfjd [k.M gS mu lHkh ds mÙkj ,d lkFk gh fy[ksaA  

   For questions having more than one part the answers to those parts are to be 

written together in continuity. 

5- iz'u i= ds fgUnh ij vaxzsth :ikUrj.k esa fdlh izdkj dh =qfV@ vUrj@fojks/kkHkkl gksus ij 

fgUnh Hkk"kk ds iz'u dks lgh ekusaA  

  

If there is any error/difference/contradiction in Hindi & English version of the 

question paper, the question of the Hindi version should be treated valid.  

  



[k.M&v 

SECTION-A 
 

Ikz’u 1& fuEufyf[kr iz’uksa ds mÙkj dk lgh fodYi p;u dj mÙkj iqfLrdk esa fyf[k,A 

 
 

(i)  fuEu esa ls dkSulk vfu"ksdtuu djus okyk tho gS\ 

¼v½ dsapqvk ¼c½ Liat ¼l½ e/qkeD[kh  ¼n½ ,Ldsfjl     1 
     Which of the following organism shows parthenogenesis. 

    A) Earthworm       B) Sponge 

    C) Honeybee D) Ascaris     

 (ii) ,d izk:fid ifjiDo vko`rchth Hkwz.kdks"k esa fdrus dsUnzd o dksf’kdk,a mifLFkr gksrh gSa\ 

     ¼v½ 7]7  ¼c½ 8]8     ¼l½ 8]7   ¼n½ 7]8     1 

       How many nucleus and cells are present in a typical mature angiosperm endosperm. 

        (A) 7,7 B) 8,8 

         (C) 8,7 D) 7,8 
 

(iiii) dkSulk tho XO izdkj dk fyax fu/kkZj.k iznf’kZr djrk gS\ 

      ¼v½ ekuo   ¼c½ QyeD[kh    ¼l½ i{kh  ¼n½ fVM~Mk   1 

        Which organism shows XO type of sex determination. 

        (A) Human                  (B) Drosophila 

        (C) Birds                     (D) Grasshopper 
 

(iv)  Mh,u, dh vkf.od lajpuk esa ukbVªkstu {kkj dkSuls ca/k }kjk iSaVkst 'kdZjk ls tqM+rk gS\ 

¼v½ gkbMªkstu  ¼c½ XykbdksflfMd    ¼l½ QkLQks,LVj  ¼n½ QkLQksMkb,LVj  1 

        By which bond Nitrogen base is attached to pentose sugar in the molecular structure of   

         DNA. 

        (A) Hydrogen                (B) Glycosidic 

        (C) Phospho-ester          (D) Phospho-di-ester 
 

(v)  fuEu esa ls dkSulk Lo izfrj{kk jksx dk mnkgj.k gS\ 

     ¼v½ ,M~l   ¼c½ vkeokrh laf/k’kks/k    ¼l½ dSalj  ¼n½ gkFkhikao     1 

         Which of the following is an example of auto immune disease. 

          (A) AIDS                (B) Rheumatoid arthritis 

          (C) Cancer                (D) Elephantiasis 
 

(vi)  dkSulk jksx vlaØked jksx dk mnkgj.k gS\ 

     ¼v½ lkekU; tqdke ¼c½ nkn    ¼l½ dSalj   ¼n½ VkbQkbM    1 

        Which disease is an example of non-contagious disease. 

        (A) Common cold B) Ringworm 

        (C) Cancer D) Typhoid 
 

(vii)  fuEu esa ls dkSulh fdLe xsgwa dh i.kZ o /kkjh fdV~V izfrjks/kh gS\ 

         ¼v½  'kjcrh lksukj  ¼c½ lksukfydk    ¼l½ dY;k.k lksuk  ¼n½ fgefxjh  1 

  

    Which of the following variety of wheat is leaf and stripe rust resistant. 

      A) Sharbati Sonar (B) Sonalika 

      (C)  Kalyan Sona (D) Himgiri 

(viii) Mh,u, [k.Mksa dks tksM+us esa mi;ksx fd;k tkus okyk ,Utkbe dkSulk gS\ 

        ¼v½ Mh,u, ykbxst ¼c½ Mh,u, ikWyhejst     

        ¼l½ Mh,u, gsyhdst ¼n½ izfrca/ku ,Utkbe      1 



        Which enzyme is used to join DNA fragments. 

         (A) DNA ligase (B) DNA polymerase 

         (C) DNA helicase (D) Restriction endonuclease 
 

(ix)  chVh dikl esa lekfo"V fd;s x;s ØkbZ thu dkSuls gSa\     1 
      ¼v½ ØkbZ I Ac & ØkbZ II Ab      ¼c½ ØkbZ I Ac & ØkbZ I Ab  

      ¼l½ ØkbZ II Ac & ØkbZ I Ab    ¼n½ ØkbZ II Ac & ØkbZ II Ab 

           The cry genes incorporated in Bt cotton are- 
           (A) Cry I Ac & Cry II Ab (B) Cry I Ac & Cry I Ab 

            (C) Cry II Ac & Cry I Ab (D) Cry II Ac & Cry II Ab 

   

Ikz’u&2 fjDr LFkkuksa dh iwfrZ dhft,A 

(i)  Ård lao/kZu }kjk gtkjksa dh la[;k esa ikniksa dks mRiUu djus dh fof/k --------------- dgykrh gSA1 

       The method of producing thousands of plants through tissue culture is called-------. 
 

(ii)  lalkj esa dqy----------------------------------------- tSo fofo/krk gkWV LikWV gSaA   1 

       The Total of number of biodiversity hotspot in the world--------------- 

(iii) ekuo thukse ds cgqr cM+s Hkkx dk fuekZ.k ------------------- }kjk gksrk gSA  

         ----------------------- make up very large portion of the human genome. 

(iv)  volknh iks"kd pØ ds HkaMkj /kjrh ds ---------------------- esa fLFkr gksrs gSaA  

        Sedimentary nutrient cycle reservoir is located in Earth`s ------------------- 
 

Ikz’u&3 fuEu iz’uksa ds mÙkj ,d 'kCn o ,d iafDr esa nhft,A 

(i) lgyXurk dks ifjHkkf"kr dhft,A      1 

       Define linkage. 

(ii)  fcUnq mRifjorZu ls mRiUu ,d jksx dk uke fyf[k,A    1 

                     Write the name of a disease caused by point mutation. 

(iii) Ikzfrj{kk dh ifjHkk"kk fyf[k,A                           1 

Write the definition of immunity. 

(iv) fo"kk.kq eqDr ikni rS;kj djus ds fy, ikni dk dkSulk Hkkx vf/kd mi;qDr gS] rFkk 

D;ks\ 
Which part of the plant is best suited for making virus free plants, and why. 

(v) oS|qr d.k lapyu dks ifjHkkf"kr dhft,A      1 

                    Define gel electrophoresis. 

(vi)  Ikkjthoh tarq dks ifjHkkf"kr dhft,A      1 

                    Define transgenic animal. 

 

(vii) usV izkFkfed mRiknd ls vki D;k le>rs gS\     1 

                    What do you understand by net primary productivity. 

(viii) Ckkg~;LFkkus o LoLFkkus laj{k.k dk ,d mnkgj.k fyf[k,A    1 

                   Write one example of ex-situ and in-situ conservation. 

  



[k.M&c 

SECTION-B 

Yk?kq mÙkjh; iz’u ¼mÙkj 'kCn lhek 50 'kCn½ 

4- cU/; naifr;ksa dks larku ikus gsrq lgk;rk nsus okyh rhu fof/k;ksa ds uke fyf[k,A     1-5  

   Write the name of any three methods to assist infertile couples to have children. 
 

5- ;kSu lapkfjr jksxksa ds laidZ esa vkus ls cpus ds fy, viuk, tkus okys rhu mik; lq>kb,A  1-5 

   Suggest three measures one has to take to prevent from contracting sexually transmitted  

     diseases. 

 

6- dkf;d ladj.k dks mnkgj.k lfgr ifjHkkf"kr dhft,A        1-5 

    Define somatic hybridization with example. 

 

7- ,dy dksf’kdk izksVhu ls vki D;k le>rs gS] mnkgj.k }kjk Li"V dhft,A      1-5 

    What do you understand by single cell protein, explain with example. 

 

8- izfrd̀rh;u dk mn~Hko D;k gS\          1-5 

    What is origin of replication. 
 

9- ck;ksfj,DVj ls vki D;k le>rs gaS\          1-5 

    What do you understand by bioreactor. 
 
 

10- vkuqoakf’kd :ikUrfjr Qlyksa ds mRiknu ds dksbZ rhu ykHk fyf[k,A        1-5 

     Write any three advantages of production of genetically modified crops. 
 

11- chVh vkfo"k ds jos dqN thok.kqvksa }kjk mRikfnr fd;s tkrs gSa] ;g jos mUgsa uqdlku D;ksa ugha  

    igqapkrs gSa\        1-5 

       Crystal of BT toxin produced by some bacteria, why these crystal do not kill the bacteria  

       Themselves. 
 
 

12-  izkFkfed mRikndrk dks ifjHkkf"kr dhft,A        1-5 

       Define primary productivity. 
 

13- m/oZorhZ o v/kksorhZ ikfjfLFkfrdh fijSfeM+ esa varj fyf[k,A        1-5 

      Write deference between upright and inverted ecological pyramid. 
 

14- tSo fofo/krk ds lHkh vko’;d ?kVdksa ds uke fyf[k,A      1-5 

      Write the name of all important components of bio diversity. 

 

15- ikfjra= ds dk;ksaZ ds fy, tSo fofo/krk D;ksa mi;ksxh gS\        1-5Why    

is bio diversity important for functioning of ecosystem.  

  



[k.M&l 

SECTION-C 
 

nh?kZmÙkjh; iz’u ¼mÙkj 'kCn lhek 100 'kCn½ 

 

16- ckg~; fu"kspu dh ifjHkk"kk fyf[k,A ;qXed tuu ,oa Hkzq.kksn~Hkou ds chp nks vUrj fyf[k,A     

                                                                            1+2=3 
       Write the definition of external fertilization. Write the two differences between gametogenesis  

        and embryogenesis. 

vFkok@OR 
 

    fu"kspu dh ifjHkk"kk fyf[k,A vySafxd o ySafxd tuu ds chp nks vUrj fyf[k,A   1+2=3 
        Write the definition of fertilization. Write the two differences between asexual and  

        Sexual reproduction. 
 

 

17- Mkmu flaMªkse xq.klw=h; fodkj dk dkj.k rFkk nks y{k.k fyf[k,A   1+2=3 
       Write the reason and two symptoms of Down`s syndrome chromosomal disorder. 
 

vFkok@OR 
  

   VuZj flaMªkse xq.klw=h; fodkj dk dkj.k rFkk nks y{k.k fyf[k,A    1+2=3 

     Write the reason and two symptoms of turner`s syndrome chromosomal disorder.  
 

 

18- ty&okfgr ,d jksx dk uke fyf[k, RkFkk bldh jksdFkke ds fy, vki D;k mik; viuk,saxs\ 

      1+2=3 

     Write the name of a water borne diseases and what measure would you take to prevent it. 
 

vFkok@OR 
 

  eysfj;k jksx tud dk uke fyf[k, RkFkk bldh jksdFkke ds fy, vki D;k mik; viuk,saxs\ 

                      1+2=3 

   Write the name of malaria pathogen and what measure would you take to prevent it. 
 

[k.M&n 

SECTION-D 
 

fuca/kkRed iz’u ¼mÙkj 'kCn lhek 100 'kCn½ 

19- f=&lay;u D;k gS\ ;s dgka vkSj dSls lEiUu gksrk gS\ ,d fu"ksfpr Hkwz.k dks’k ¼iqVh½ dk  

    ukekafdr fp= cukb;sA      1+1+2=4 
     What is triple fusion? Where and how does it takes place? Draw a labelled diagram of a  

     fertilized embryo sac. 

vFkok@OR 
    

    ,d lsc dks vkHkklh Qy D;ksa dgrs gS\ iq"Ik dk dkSulk Hkkx Qy dh jpuk djrk gS\ lsc ds  

    vkHkklh Qy dk ukekafdr fp= cukb;sA             1+1+2=4              

       Why is an apple called a false fruit? Which part (s) of the flower forms the fruit? Draw a 

       diagram of false fruit of apple 



 

20- Mh,u, dks ifjHkkf"kr dhft,A f}dqaMyh Mh,u, dh lajpuk dh fo’ks"krk,¡ fyf[k,A f}dqaMyh  

   Mh,u, dh lajpuk dk ukekafdr fp= cukb;sA             1+1+2=4  

      Define DNA. Write the features of the double helix structure of DNA. Draw a labelled  

     diagram of DNA double helix 

vFkok@OR 
 

    Mh,u, dqaMyh ds iSdsftax dks ifjHkkf"kr dhft,A :ikarfjr fl)kUr ds tho jklk;fud y{k.k       

    fyf[k;sA U;wfDy;kslkse dk ukekafdr fp= cukb;sA               1+1+2=4  

      Define the packaging of DNA helix. Write the biochemical characterization of     

      transforming principal. Draw a labelled diagram of nucleosome?  

 

 

 

 

 

 


